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ZmoQ> … g^r àíZ hb H$s{OE&
Note : Attempt all questions.

Q.1. Z dgyb hþE bm^m| H$s JUZm H¡$go H$s OmVr h¡? g‘PmBE&
How are unrealised profits calculated? Explain.

Q.2. OrdZ ~r‘m H$ånZr Ho$ gå~ÝY ‘| {d{^Þ àH$ma Ho$ ~moZg H$m C„oI H$s{O¶o&
State various types of bonus regarding Life Insurance Company.

Q.3. C{MV Am¶ go Amn ³¶m g‘PVo h¡?
What do you mean by Reasonable returns?

Q.4. EH$ J¡g H$ånZr AnZo H$maImZo H$m 15,00,000 ê$. na nwZ{Z©‘m©U H$aVr h¡& H$maImZo H$mo, {OgH$s ‘yb
bmJV 6,00,000 ê$. Wr, nyU© ê$n go nwZñWm©{nV {H$¶m J¶m& Z¶o H$ma§ImZo H$mo ~ZmZo ‘| 50,000 ê$. H$s
nwamZr gm‘J«r à¶wº$ H$s J¶r VWm Hw$N> nwamZr gm‘J«r H$mo 20,000 ê$. ‘| ~oMm J¶m& gm‘J«r, l‘ Ed§
Cn[aì¶¶m| ‘| Cg g‘? H$s VwbZm ‘| O~ nwamZm H$maImZm ~Zm¶m J¶m Wm H«$‘e… 100%, 50% VWm 25%
H$s d¥{Õ hmo J¶r h¡& gm‘J«r, l‘ VWm Cn[aì¶¶m| H$m AZwnmV H«$‘e… 6 … 3 … 1 {b¶m Om gH$Vm h¡& Amdí¶H$
OZ©b boIo H$s{OE&
A gas company rebuilds its works at a cost of Rs.15,00,000. The works which had originally
cost Rs.6,00,000 is completely replaced. In making the new works, old material of
Rs. 50,000 was reused and some old material was sold for Rs. 20,000. The cost of material,
labour and overhead is respectively 100%, 50% and 25% higher now than when the old
works were built. The ratio of materials, labour and overhead may be taken as
6:3:1 respectively. Pass necessary Journal entries.

Q.5. ZJa {ZJ‘ Ho$ ImVmo H$mo ~ZmZo H$s à{H«$¶m g‘PmB¶o&
Explain the procedure of preparing the accounts of a municipal corporation.
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